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10.10.12.0/24

eth0/0

10.10.13.0/24
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R1

Rl#sh run int lo O
Building configuration...

Current configuration : 82 bytes

interface Loopback0

ip
ip
end

address 10.1.1.1 255.255.255.255
router isis 1



Rl#sh run int ethernet 0/0
Building configuration...

Current configuration : 127 bytes

1

interface Ethernet0/0

ip address 10.10.12.1 255.255.255.0
ip router isis 1

isis circuit-type level-1

end

Rl#sh run int ethernet 0/1
Building configuration...

Current configuration : 111 bytes

1

interface Ethernet0/1

ip address 10.10.13.1 255.255.255.0
ip router isis 1

isis circuit-type level-1

end

1

router isis 1
net 49.0001.0000.0000.0001.00 >>>>> Area is 49.0001
is-type level-1 >>>>>>>>>> Globally this router belongs to Levell

R2

R2#sh run int lo 0
Building configuration...

Current configuration : 82 bytes

!

interface Loopback0

ip address 10.2.2.2 255.255.255.255
ip router isis 1

end

R2#sh run int eth0/0
Building configuration...

Current configuration : 111 bytes
!
interface Ethernet0/0
ip address 10.10.12.2 255.255.255.0
ip router isis 1
isis circuit-type level-1 >>>>>> Circuit type is L1 towards R1
end

R2#sh run int eth0/1
Building configuration...

Current configuration : 84 bytes

!

interface Ethernet0/1

ip address 10.10.24.2 255.255.255.0
ip router isis 1

end
1

router isis 1



net 49.0001.0000.0000.0002.00

R3

R3#sh run int lo 0
Building configuration...

Current configuration : 82 bytes

!

interface Loopback0

ip address 10.3.3.3 255.255.255.255
ip router isis 1

end

R3#sh run int eth0/0
Building configuration...

Current configuration : 84 bytes

!

interface Ethernet0/0

ip address 10.10.13.3 255.255.255.0
ip router isis 1

end

R3#sh run int eth0/1
Building configuration...

Current configuration : 84 bytes

!

interface Ethernet0/1

ip address 10.10.34.3 255.255.255.0
ip router isis 1

end
!

router isis 1
net 49.0001.0000.0000.0003.00

R4

R4#sh run int lo 0
Building configuration...

Current configuration : 82 bytes

1

interface Loopback0

ip address 10.4.4.4 255.255.255.255
ip router isis 1

end

R4#sh run int ethernet 0/0
Building configuration...

Current configuration : 84 bytes

|

interface Ethernet0/0

ip address 10.10.24.4 255.255.255.0
ip router isis 1

end

R4#sh run int ethernet 0/1



Building configuration...

Current configuration
1

interface Ethernet0/1

84 bytes

ip address 10.10.34.4 255.255.255.0

ip router isis 1
end

router isis 1

net 49.0002.0000.0000.0004.00
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Rl#show clns neighbors

Tag 1:

System Id Interface
R2 Et0/0

R3 Et0/1

R1#

R1 neighbor relationship

R2#sh clns neighbors

Tag 1:

System Id Interface
R1 Et0/0

R4 Et0/1

R2 neighbor relationship
R2 neighbor relationship

So R2 is L1L2 router as it is building both adjanceny

R3#sh clns neighbors

Tag 1:

System Id Interface
R1 Et0/0

R4 Et0/1

SNPA
aabb.cc01.£600 Up
aabb.cc01.£700 Up

with R2 and R3 is only L1

SNPA
aabb.cc01.£500 Up
aabb.cc01.£800 Up

with R1 is L1
with R4 is L2

SNPA
aabb.cc01.£510 Up
aabb.cc01.£810 Up

R3 neighbor relatioship with R1 is L1

R3 neighbor relationship

So R3 is L1L2 router as it is building both adjanceny

R4#sh clns neighbors

Tag 1:

System Id Interface
R2 Et0/0

R3 Et0/1

with R4 is L2

SNPA
aabb.cc01.£610 Up
aabb.cc01.£710 Up

State

State

State

State

Holdtime Type
6 L1
9 L1
Holdtime Type
24 Ll
9 L2
i.e. Ll and L2
Holdtime Type
25 Ll
7 L2
i.e. Ll and L2
Holdtime Type
29 L2
23 L2

Protocol
IS-IS
IS-IS

Protocol
IS-IS
IS-IS

neighbor

Protocol
IS-IS
IS-IS

neighbor

Protocol
IS-IS
IS-IS



R4 neighbor relationship with R2 and R3 is L2 only
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Rl#show isis database

Tag 1:

IS-IS Level-1 Link State Database:

LSPID LSP Seq Num LSP Checksum LSP Holdtime ATT/P/OL
R1.00-00 * 0x0000002B 0x4269 576 0/0/0
R2.00-00 0x00000033 0xB1CA 997 1/0/0
R2.01-00 0x0000001F 0x42F0 1018 0/0/0
R3.00-00 0x0000002B 0xCABE 857 1/0/0
R3.01-00 0x0000001B 0x50E4 964 0/0/0

ATT ( which is marked in Bold ) represents attach bit and is set to 1 for both R2 and R3
router in Level 1 LSP . ATT bit is only set in Levell LSP

Rl#sh ip route
Codes: L - local, C - connected, S - static, R - RIP, M - mobile, B - BGP
D - EIGRP, EX - EIGRP external, O - OSPF, IA - OSPF inter area
N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2
E1l - OSPF external type 1, E2 - OSPF external type 2
i - IS-IS, su - IS-IS summary, L1l - IS-IS level-1, L2 - IS-IS level-2
ia - IS-IS inter area, * - candidate default, U - per-user static route
o - ODR, P - periodic downloaded static route, H - NHRP, 1 - LISP
a - application route

Q

+ - replicated route, % - next hop override
Gateway of last resort is 10.10.13.3 to network 0.0.0.0
i*l1 0.0.0.0/0 [115/10] wvia 10.10.13.3, 00:00:26, Ethernet0/1

[115/10] via 10.10.12.2, 00:00:26, Ethernet0/0
10.0.0.0/8 is variably subnetted, 9 subnets, 2 masks

C 10.1.1.1/32 is directly connected, Loopback0

i Ll 10.2.2.2/32 [115/20] via 10.10.12.2, 00:00:26, Ethernet0/0

i Ll 10.3.3.3/32 [115/20] via 10.10.13.3, 00:46:55, Ethernet0/1

C 10.10.12.0/24 is directly connected, Ethernet0/0

L 10.10.12.1/32 is directly connected, Ethernet0/0

C 10.10.13.0/24 is directly connected, Ethernet0/1

L 10.10.13.1/32 is directly connected, Ethernet0/1

i Ll 10.10.24.0/24 [115/20] via 10.10.12.2, 00:00:26, Ethernet0/0
i Ll 10.10.34.0/24 [115/20] via 10.10.13.3, 00:46:55, Ethernet0/1

In route table R1 is installing default route towards R2 and R3
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Rl (config) #int eth0/0
Rl(config-if)#isis metric 20 >>>>> Metric is increased by 20

Rl#sh ip route 0.0.0.0

Routing entry for 0.0.0.0/0, supernet
Known via "isis", distance 115, metric 10, candidate default path, type level-1
Redistributing via isis 1



Last update from 10.10.13.3 on Ethernet0/1, 00:00:05 ago

Routing Descriptor Blocks:

* 10.10.13.3, from 10.3.3.3, 00:00:05 ago, via Ethernet0/1
Route metric is 10, traffic share count is 1

Now only 1 default route in routing table i.e. towards R3

B 1elJs 1Jp3dsys Tedle. yusop lehs wozse zese Il 1o 1Jglues wldb,l R4 ues
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R4#sh run int lo 1
Building configuration...

Current configuration : 85 bytes

!

interface Loopbackl

ip address 10.44.44.44 255.255.255.255
ip router isis 1

end

R2#

router isis 1
net 49.0001.0000.0000.0002.00
redistribute isis ip level-2 into level-1 route-map LEVEL2_into_Levell

R2#show route-map
route-map LEVEL2_into_Levell, permit, sequence 10
Match clauses:
ip address (access-lists): 10
Set clauses:
Policy routing matches: 0 packets, 0 bytes
!
R2#sh access-lists 10
Standard IP access list 10
10 permit 10.4.4.4 (22 matches)

Vlesxd wslulo R1 9ga9d [Jwsgsoe wes lels IJugjse:

Rl#show isis database R2.00-00 detail
Tag 1:

IS-IS Level-1 LSP R2.00-00

LSPID LSP Seq Num LSP Checksum LSP Holdtime ATT/P/OL
R2.00-00 0x00000036 0xABCD 859 1/0/0
Area Address: 49.0001

NLPID: 0xCC

Hostname: R2

IP Address: 10.2.2.2

Metric: 10 IP 10.10.12.0 255.255.255.0

Metric: 10 IP 10.2.2.2 255.255.255.255

Metric: 10 IP 10.10.24.0 255.255.255.0

Metric: 10 IS R2.01

Metric: 148 IP-Interarea 10.4.4.4 255.255.255.255



After redistribution 10.4.4.4/32 route is being seen into R1 database

Rl#sh ip route 10.4.4.4
Routing entry for 10.4.4.4/32

Known via "isis", distance 115, metric 168, type inter area
Redistributing via isis 1

Last update from 10.10.12.2 on Ethernet0/0, 00:06:32 ago
Routing Descriptor Blocks:

* 10.10.12.2, from 10.2.2.2, 00:06:32 ago, via Ethernet0/0

Route metric is 168, traffic share count is 1

After redistribution 10.4.4.4/32 is also present in routing table as well
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